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Z2H 652,055 633,066 18,989
HENSAUL A (22H) 268,253 257,829 10,424

HAMSILA & 268,253 257,829 10,424
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O H 29 3S+2H| 4,300,000& = 14 4,300
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15,0008 = 85 * 128 1,440
O 3o ANA&g Rol 50,000& * 2& x 33 300
O &AL =HI2 60,000& * 3& * 23] 360
O &N ¢ 30,000& * 65 * 43| 720
O #HNSBE 7Y
50,000& * 58 x 123 3,000
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300,000& * 8CH * 33 7,200
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80,000& = 8L * 33 1,920
O SUABAAHDEBA 242
140,000& * 12& 1,680
02 352494l 55,790 55,682 108
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O fHE=Z 1,930& = 15024 x 12& 3,474
O &gz 90,000& = 3CH = 12&€ 3,240
O olfHUgIdAME2(NEEBHE24HE
121,000& = 12&€ 1,452
O ANE~-gHS2 sz 500,000& = 12& 6,000
O ®MIlz 40,292
= A 440,000 = 12& 5,280
S g2 200,000& = 12& 2,400
PIRS 6,320& * 430 * 12& 32,612
O 4otz 100,000& * 12& 1,200
O sdgss 5,500& = 204 ~ 12& 132
202 044 47,280 43,620 3,660
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[0 2Bl 230,000& = 16Y * 12& 44,160
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301 et A= 111,840 109,840 2,000
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01 JHAtY 2 E F S H 4,500 4,000 500
O deEl ¢ 3,000,000& = 1CH 3,000
O & 27127 2 1,500,000& * 14! 1,500
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101 @121l 10,858 6,729 4,129
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O d=Hl 3,737
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0O A3 S 2l AR
41,7003 = 3 = 40 5,004
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O oAaEH s3 3| 20,000,000& * 14l 20,000
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15,000,000& * 14 15,000
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15,000,000& * 14 15,000
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401 AIEHI L 2CHEI 101,440 104,440 A 3,000
01 A& Hl 100,000 103,000 A 3,000
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20,000,000 * 14 20,000
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O 42(¥8)2 S2EF L SETA
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0O 2g(st2)el &= Ak 20,000,0008 * 14 20,000




SN 22
M FOHOAY(LRH)
Sl FOIBAAY (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O 24 (ZEUW)el == S A
20,000,000& * 14l 20,000
[ EHE22 A=S A 20,000,000 * 14 20,000
O d&(gA)el =2 Ul 3AM
20,000,000 * 14 20,000
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el 2 77,760 66,048 11,712
oleE=2Yy|(229) 77,760 66,048 11,712
101 124 dl 77,760 66,048 11,712
2 77,760 66,048 11,712
0O =2 2=+E 77,760
O ANZe2Rsg
9,000& » 16% = 45A12F = 12& 77,760
Jl23&dl 39,590 42,185 A 2,595
Jl2dH(Z&d) 39,590 42,185 A 2,595
201 Let24E] 24,710 27,225 A2,515
01 At 22l 24,710 27,225 A2,515
0 28+ 13,290
O =2zl 30,0003 = 18 = 2482 7,440
O €2l 50,000& = 1¥& = 117 5,850
O =&l 8,820
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7,000 * 14% » 90 8,820
[ N = 2,600
O ¢o&d Fdl 1zt
150,000  2CH = 23l 600
O THoHz2tad Zulxt 2,000,000& * 14l 2,000
202 O4dl 1,040 1,120 A80
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O H&Ex MENME=2S 0l
80,000& « 133l 1,040
203 YR =&l 11,440 11,440 0
01 JI22E R =4 6,600 6,600 0
0O 2sH% 550,000& = 12& 6,600
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0 & A& R 40,0002 * 16 640
04 FEN2ELRZ=TH 4,200 4,200 0
O z2=2d 350,000& * 12 4,200
204 MR AH| 2,400 2,400 0
01 Mg 2,400 2,400 0
[ =Sy 150,000& * 122 1,800
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